In-class Assignment #6 — Normal Distributions
Dawson College - Introduction to Statistics (201-922-DW)
Instructor: Emilie Richer
(worth 2% of final grade)

19 October, 2015

Name:

Question 1
Given a standard normal distribution, find the area under the curve that lies
(a) totheleftofz=-1.39;
(b) to the right of z = 1.96;
(c) between z = -2.16 and z = -0.65;
(d) to the left of z = 1.43;
(e) to the right of z = -0.89;
(f) between z =-0.48 and z = 1.74.

Question 2
Given a normal distribution with ¢ = 30 and o = 6, find
(a) the normal curve area to the right of x = 17;
(b) the normal curve area to the left of x = 22;
(c) the normal curve area between x = 32 and x = 41;
(d) the value of x that has 80% of the normal curve area to the left;
(e) the two values of x that contain the middle 75% of the normal curve area.

Question 3
Given the normally distributed variable X with mean 18 and standard deviation 2.5, find

(a) P(X <15);

(b) the value of k such that P(X < k) = 0.2236;
(c) the value of k such that P(X > k) = 0.1814;
(d) P(17 <« X < 21).
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